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I'epmanus - HloTnanaus 5-1 1-1] - |1-0| 1 |20/ 1 |20 1 J2-1| 1 - -
Benrpus - lIseiinapus 1-3 ]0-2| 1 |0-1| 1 ]03]1]0-1]1]00] - - |-
Wcnanus - XopaTtust 3-0 201 J2-1[ 1200 1]30]2]1-1] - - | -
Wranus - Anbanus 2-1 |40 1 )J2-0|11]7-00 1 |3-0]1]40] 11201
ITonbwa - [N'omnangus 1-2 02| 1 |1-2| 2 J14]1]2-1] - ]0-2|1]0-2]1
CnoBenus - lanust 1-1 0-1 0-1] - 105 - |0-2] - JI-1] 2 ]0-1
CepOust - Aurmnus 0-1 -3/ 1103|112 1]02]11|24]1]121
Pymbinus - Ykpansa 3-0 I-1| - 10-1| - 13-0/ 2 ]0-2| - 10-0) - J1-1] -
Benprus - CnoBakus 0-1 3-1| - |2-1] - |40 - |2-0] - J2-1| - ] 2-1] -
ABctpus - @pannms 0-1 0-3 1102|106/ 1]02]11]0-1|2]1-2]1
Typuus - I'py3us 3-1 I-1| - 10-0| - |40/ 1 |2-1| 1 |3-1| 2 ]1-1] -
Ilopryranus - Yexus 2-1 3-1 |1 |2-1] 2 |51 1 J1-1] - |3-1| 1 ]3-1] 1
PesyabTatsel nocie 1 Typa 7 10 11 8 11 5
2 Typ
XopBatus - AnbaHus 2.2 |2-0| - |1-0| - |4-0] - |3-0] - |1-0] - ] 2-0| -
I'epmanus - Benrpust 2-0 |30 1]2-0] 2 J2-1] 1 )40 1 |2-0] 2 |3-0]1
ornangus - HBeitapust 1-1 00 1 |1-2| - 10-2] - ]0-2| - J1-0| - | O-1| -
Crnosenus - Cepoust 1-1 00 1]0-1] - JO-2| - JO-2| - ]JO-1| - ]0-2] -
Jlanus - AHTIIAS 1-1 -3 - |1-2| - J1-1] 2 J1-2] - |1-3| - | 1-2| -
Wcnanus - Utanus 1-0 -1 - |20 1 J2-1| 1 |12} - |1-3] - |3-1| 1
CrnoBakus - YKpanHa 1-2 -1 - J0-1] 1 ]2-1] - |1-2] 2 J1-0] - |2-0] -
[onpmma - ABcTpust 1-3 -1 - [1-0| - J2-1] - |1-0] - JO-1| 1 ]O-1] 1
Tomnanaus - @pannuys 0-0 -1 11]0-1] - J1-2| - |02 - J1-1| 1 ]1-2] -
I'py3us - Uexus 1-1 -1 210-1] - J0O-3| - |1-2] - J2-1| - ] 2-1] -
Typuwus - [Topryramus 0-3 -1 - 102|113/ 1 |3-1] - |1-2]1]1-3]1
benbrust - Pymbinus 2-0 |20 2 |3-0| 1 |3-00 1 )1-0] 1 |2-2] - |2-0] 2
Pe3yabTaTsl nocjie 2-x TypoB 15 16 17 12 16 11
3 Typ
[IBeiinapus - 'epmanus 1-1 -3 -1 - - 103 -] -1 -1]- - 10-2| -
IHoTnanaus - Benrpus 0-1 2-1| - | - -1 -1 -1-1- - 101 2
Xopsarus - Uranus 1-1 0-0| 1] - - ]0-2 - -1- - 112
AnGanwus - cnanus 0-1 03| 1] - -J05/ 1 -]-1-1]-1031
Anrmms - CnoBeHHs 0-0 |2-0 - - 13- -1-1-1- - | 2-1 -
Janns - Cepbus 0-0 -1 1] - - 121 -1-1-1]- - | 1-2| -
Tommangus - ABcTpust 2-3 00| - |1-0| - J2-0f - |2-0| - J1-0| - | 1-1| -
Opannus - [lonpma 1-1 4-1| - |2-1 | - |3-0] - |3-0f - |1-0| - | 2-0f -
CrnoBakus - Pymerans 1-1 00| 1 |1-0| - J2-1| - JO-1| - JO-0| 1 ]2-1] -
Ykpauna - benbrust 0-0 1-3| - 102 - J0-3| - |2-1| - JO-1| - ] 0-2] -
UYexus - Typuus 1-2 |2-1| - JI-1| - J1-1}] - |1-2] 2 |0-O0] - | 1-0] -
I'py3us - Ilopryranus 2-0 1-3| - 10-2| - J0-3| - |0-4] - J0-1| - ] 0-2] -
Pe3yabTaThl nocje 3-x TypoB 19 16 18 14 17 14
1/8 punana
IIBeiinapus - Utanus 2-0 |0-0| - ]JO-1] - 02| -] - | - ]0-2] - ]0-1| -
I'epmanus - lanus 2-0 |3-1| 1 |J1-0) 1 j2-1| 1) -] - |1-1] 1 ]2-0] 2
Anrnms - CnoBakust 1-1 -0 - 120 - J1-1{ 2] -1 -11-0| - ]2-0] -
Wcnanus - I'py3us 4-1 40| 1]2-0] 1300 1) -]-1]2-0]1]3-11
®panuus - benprus 1-0 |42 1 |2-1| 1|21 1] -] -]1-0] 2 ]1-0] 2
[opryranus - CnoBeHus 0-0 30| - J1-0| - J2-0] -] - | - |2-0] - ]2-0| -
Pympinus - onnannus 0-3 02| 1]O-1] 1 12 1) -]-1]02]11]0-21
ABsctpus - Typuus 1-2 -1 - |1-1] - 1121 2] -1]-11-0] - J0-1| 1
PesyabTatsel nocie 1/8 punana 23 20 26 14 22 21




